
 

Ex 6C Q x 25 t y 45 r
P 2,2
Q 2 53,5 Z z t z r2
R 2 53,5 O t 4 r2

r i 2

IPQ1 14 5 232 5 2 131 9 TE

IPRI JG 53 25 5 2 13 9 TE

Qrl J B t o T2

Equilateral since all sides Iz

Aside Consider ax bx c O

x b fb 4ac
Za

b 4ac is called the discriminant

f b Aac o two real roots

1 f b Aac so one repeated root
f b 4ac so no real roots

Homework Review



Exercise GD

7 y 2x 2 x c g 25 20

Sus for y in

x 2
2
t 2x 2 2

Z
Zo

X 4 4 2x a
2

20

K2 4 41 4 2 16 16 20

5 2 20 20 20

5 2 20x to

5 x x a o

Either x o or K 4

g 2Co Z g Va Z

g 2 y 6

Aco 2 B 4,6

AB I 05 16 232

J 16 t 64 1 80

116 5 455

Radius 520 I 255



455 2 255 AB is a diameter

9 x 45 t gig 50

C y 5 0

L y 5

Sub for in circle
2 2

y 5 4 ya 50

gti c yt 72 50

y c2g ti t 5 1431 49 50

2y2 1 by O

Zy g t 8 o

y o or y 8

x 01 5 x 8 5

x 5 x 3

A 5,0 BC 3 8

gradient AB If Ig I

1 bisector gradient h

AB midpoint 5
2
3 O 8 1 4



y ye n x x

g 4 1 x i

y 4 X ti

y x 3

c Centre of circle Q 7

Shou 4 7 on 1 bisector

7 4 3

Area OAors
50 base x height3 O 5 A

Iz x 5 x 8

8 20 units
C3 8

Exercise GE

5 XZ t 18K ty2 2g t 29 0

a C 7 6



75 181 7 C 65 2C 6 29

49 126 t 36 t iz t 29

0 on circle

b x a
2
81 x y 15 I 1 29 0

x 95 t y 15 53

Centre AGE 1
P 7 6

gradient of radius AP I 6 7 7
9 7 z 2

gradient of tst atp Z

y y h x x

y G 3 x 7

y 16 3 att

T 3 2 6

ye Ex 4

c On y axis x O

y o 4 R o 4



AC 9,1
PC 7 6

RCO 4 A IQ
I I e l lo l I i e i

RF
P S

U APR Area Trap AQSP DAQR GPRS

tz 91 717 1
2 5 9 2 2 7

56 22k 7

26.5

Hwk Ex GD 6 8 10 12


